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Squaring Material Worksheet

1. What type of quadrilateral has diagonals congruent?

Rectangle [and  Squ wre)

2. Two consecutive angles of a quadrilateral are right angles, but the quadrilateral is not a rectangle.
Can the quadrilateral be a parallelogram? Explain.
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3. Explain how you can determine, without measuring any angles, whether a quadrilateral is a woulck Malee
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4. LMNO is a parallelogram. If NM = x + 21 and OL = 3x + 3 find the value of x and then find NAM and
OL.
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2.  x=9,NM=32, 0L=30 @ x =9, NM =30, OL = 30
b.  x=11,NM=30,0L=32 x=11,NM =32, OL =32

5. DEFG s arectangle. DF' = 4x — ] and EG = x + 29. Find the value of x and the length of each
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a. x=10,DF =39,EG =41 c.  x=5,DF=234,EG=34

'b.y x=10,DF=39,EG=39 d. x=10,DF =34, EG=34




6. In the rhombus, m/1=10x, m£2 =x+y, m/£3
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a. x=9,y=171,2=90
b. x=18,y=81,2z=90

=2z. Find the value of each variable. The diagram

mi3 =27
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x=9,y=81,z=45
x=18,y=171,z=45

7. Prove that quadrilateral ABCD with A(-3, 0), B(-3, 3), C(5, 3), and D(5, 0) is a rectangle. Show

work.
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